
Assembly Instructions Fer The Marlb&F& Roeker 

Tools Needed: P�T.id! 
Power Screwdriver 
#2 Square Drive Bit 

Seat �mbly (1) 
Back Assembly (1) 

Step l 

Step Z-

Step3 

Step4 

StepS 

Left Ann & Leg Assembly (1) 
Right Ann & Leg Assembly (1) 
Rockers(2)' 
Leg Brace (1) 

Attach the arm & leg �mblies to the seat assembly. (The cmved side of the arm & 
leg belongs on the outside). Insert a 2-3/4" bolt through the predrilled hole in the front 
leg- & tam·mta the insert hr the side of-the- seat �:ty·with the A.Herr wrench. The 
front leg has only 1 predrilled hole in the side of the leg & the back leg has 2 
predrilled holes. (Do not fully tighten any bolts until the chair is fully assembled). 

Place the back assembly between the back legs of the rockers. Align the top predrilled 
hole underneath the ann with the threaded insert in the side of the back as.5embly & 
insert-a 3'-1/T" bolt-on each side. 

Attach the bottom of the back assembly to the seat assembly. Align the bottom of the 
2x2s of the back with the bottom edge of the seat & fasten with four 3" screws in the 
predrilled holes. No predrilled holes are needed in the seat as screws are self-drilling. 

Attach the back leg brace between the back legs. (If it does not fit between the legs 
loosen the bolts under the arms). Insert a 2-3/4 .. bolt in the holes in the side of the 
legs & tuminto the tlttea:ded inserts-in the leg brace. 

Now attach the rockers to the leg assemblies by aligning the holes in the rockers with 
the threaded inserts in the legs. Place the rockers on the outside of the legs, insert four 
2-1/2".. bolts through each rocker & tum into the inserts in the legs. Make sure you 
have the longer end of the rocker at the back of the chair. Now fully tighten all bolts 
with the Allen wrench. 

Hardware:
1/4" x 3-1/2" Bolts (2)
1/4" x 2-3/4" Bolts (4)
1/4" x 2-1/2" Bolts (8)
3" Screws (4)
Allen Wrench (1)




